EEHEE HK3-1)

NXTFTHRE (BE) RRERIEHE - 7EBRRE

(FovsB) (B FH)
RIEE R8EE ROEE RI10EE & RITEE
I'ON 5895| UXA 5895 YRA 5895] IXA 5895 UXA 5,895
e ET S B 7340 Xt | 7340 "t | 7300 % | 7340
#=5| -785] Z3| -1,444] £5| -1,444] Z5| -1,444] £5| -1,444
IR A 13,924] XA 13,924] XA 13,924 URA 13,924] XA 13,924
HRirax | Xt 8532 ZHH 9,191| X H 9,191 X H 9,191] ZH 9,191
=5| 5392| #=3| 4,733| £5I 4,733] £5| 4733| 3| 4733
IRA 12,191] XA 12,191] XA 12,191] XA 12,191] UZA 12,191
HBX Xt 12,782] X 13441] X 13441 X H 13441 XZiH 13,441
#5| -591] =5l -1,250] Z5| -1,250] Z5| -1,250] Z5I -1,250
IRA 16,438] UXA 16,438] UXA 16,438] UXA 16,438] XA 16,438
mrx | X 48.476| ZH 49,135| L 49.135] %! 49135 ZH 49,135
#=5| -32,038] Z3| -32,697| =3I -32,697| Z3| -32,697| Z35| -32,697
A 15,470] URA 15470] URA 15,470] YA 15470] IRA 15,470
B Xt 17813] Xt 18472| X 18472 X iH 18472 %t 18,472
=5l -2,343] £5| -3,002| 5| -3,002| Z5| -3,002] 5| -3,002
A 12,873 URA 26,077| URA 26,077| URA 26,077| XA 26,077
moE | k| o833| % | 10402 T | 10402| =t | 10402 %t | 10492
=5l 3041 51 15,585] Z5| 15,585 Z5| 15,585 Z5| 15,585
A 32,049] UXA 32,049] URA 32,049| URA 32,049] UXA 32,049
%X XH 9,148] X 9,807| Xt 9,807| it 9,807| Xt 9,807
#=5| 22,902| 3| 22243| 3| 22243| £3| 22243 3| 22,243
I'ON 10,243] YRA 10,243] YA 10,243] IR A 10,243] 4R A 10,243
x| =m0 5820 Zit | 6479 Xt | eare| mm | 6479 Xttt | 6479
#=5| 4423| Z£3| 3,764] Z35| 3,764 =35| 3,764] =35I 3,764
'ON 119,083] URA 132,286| UXA 132,286 UXA 132,286 XA 132,286
& &t XH 119,084] ZH 124,355] ZH 124,355 X H 124,355] ZH 124,355
=5| -1| £5I 7,931 =35I 7,931 £5| 7,931] =35I 7,931
m~D
%ﬁﬁéﬁéﬁ 0 7,931 7,931 7,931 7,931
IRARAZE%E
EEZRAD 80% 80% 80% 80% 80%
TADHER
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